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Limiting factors

Any factor, biotic or abiotic, that limits the
growth, reproduction, or distribution of a
group of organisms
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Density Independent Limiting Factors
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Density Dependent Limiting Factors

Any limiting factor that... Dee$ ‘F-J ©n ”Jdl'.n S.2¢

Are usually biotic factors
Ex. ul\'l'-'n’ parestes
Comfetitie, Diseate

Predeec/ peey

Population Growth Rate
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Equation for population growth
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(Birth rate (natali1)+ immigration) - (Death rate :Tortality) + emmigration)

The natality for a population is 5 individuals per year. The mortality
is 6 individuals per year. The immigration is 4 individuals per year,
and the emigrations is 6 individuals per year. After one year, how
many individuals has the population increased or decreased by

(s+v) ~(6+6)
q - n

The mortality for a population is 21 individuals per year. The natality
is 30 individuals per year. The immigration is 16 individuals per year,
and the emigrations is 18 individuals per yeargAfter 10 years, how
many individuals ion i
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Population Growth Models

Population Growth Models

Logistic Population growth

Exponential Population growth
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Logistic Growth Curve
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When does a population stop increasing? 6..«‘

An employer offers you two equal jobs of one hour each for 14 days.
The first pays $10 / day. The second pays only 1 cent for the first
day, but the rate doubles each day. Which job would you take.
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The maximum number of individuals in a species that an “oB L
environment can support for the long term
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Used to explain why populations tend to stabilize




	Page 1
	Page 2
	Page 3

